



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Software Engineering) 2nd Semester Section-A Morning Session: Autumn 2025

Registration #	Name	GE161					GE163					GE164					GE167					GE168					GE169				
		Application of Information & Communication Technologies					Expository Writing					Discrete Structures					Ideology & Constitution of Pakistan					Social Sciences (Urdu)					Applied Physics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE Aut-2023-M-C-0130	Ajmal Karim	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0012	Hanzala Qadeer	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BS/SE/A-24/M/A/35	Saqlain Abbas	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-			
IS/BS/SE/A-24/M/A/37	Shakir Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	2	4.0	-	-	-	-	-	66	C+	2.5	3	7.5		
IS/BS/SE/A-24/M/B/06	Ahmad Shan	-	-	-	-	-	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5	71	B	3.0	2	6.0	60	C	2.0	3	6.0	-	-	-		
IS/BS/SE/A-24/M/D/19	Kumail Abbas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-			
IS/BS/SE/A-24/M/D/51	Sharaz Ahmed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BS/SE/A-24/M/E/21	Muhammad Aryan Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BS/SE/A-24/M/F/04	Abdul Wasay	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	55	C	2.0	2	4.0	-	-	-	-	-	-	-	-			
IS/BS/SE/A-24/M/F/30	Muhammad Bilal	-	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	46	F	-	3	-	-	-	-			
IS/BS/SE/A-24/M/G/16	Kashaf Ul Eman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5		
IS/BS/SE/A-24/M/G/32	Nouman Raees	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BS/SE/A-24/M/G/54	Usman Hameed Awan	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-			
IS/BS/SE/S-25/M/A/01	Abdul Aashir	-	-	-	-	-	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	80	A	4.0	2	8.0	70	B	3.0	3	9.0	-	-	-		
IS/BS/SE/S-25/M/A/03	Alina Ishaq	-	-	-	-	-	80	A	4.0	3	12.0	81	A	4.0	3	12.0	75	B+	3.5	2	7.0	42	F	-	3	-	-	-	-		
IS/BS/SE/S-25/M/A/04	Alishba Tassadaq	-	-	-	-	-	60	C	2.0	3	6.0	25	F	-	3	-	75	B+	3.5	2	7.0	72	B	3.0	3	9.0	-	-	-		
IS/BS/SE/S-25/M/A/06	Asad Muhammad Khan	-	-	-	-	-	70	B	3.0	3	9.0	52	D	1.5	3	4.5	60	C	2.0	2	4.0	76	B+	3.5	3	10.5	-	-	-		
IS/BS/SE/S-25/M/A/07	Atiya Alam	-	-	-	-	-	75	B+	3.5	3	10.5	49	F	-	3	-	75	B+	3.5	2	7.0	70	B	3.0	3	9.0	-	-	-		
IS/BS/SE/S-25/M/A/08	Awais Imtiaz	-	-	-	-	-	70	B	3.0	3	9.0	64	C	2.0	3	6.0	81	A	4.0	2	8.0	80	A	4.0	3	12.0	-	-	-		
IS/BS/SE/S-25/M/A/09	Ayesha Rehman	-	-	-	-	-	70	B	3.0	3	9.0	66	C+	2.5	3	7.5	65	C+	2.5	2	5.0	80	A	4.0	3	12.0	-	-	-		
IS/BS/SE/S-25/M/A/10	Ayesha Shah	-	-	-	-	-	70	B	3.0	3	9.0	50	D	1.5	3	4.5	65	C+	2.5	2	5.0	66	C+	2.5	3	7.5	-	-	-		
IS/BS/SE/S-25/M/A/11	Dawood Tahir	-	-	-	-	-	70	B	3.0	3	9.0	52	D	1.5	3	4.5	61	C	2.0	2	4.0	72	B	3.0	3	9.0	-	-	-		
IS/BS/SE/S-25/M/A/12	Haris Iftikhar	-	-	-	-	-	65	C+	2.5	3	7.5	53	D	1.5	3	4.5	55	C	2.0	2	4.0	62	C	2.0	3	6.0	-	-	-		
IS/BS/SE/S-25/M/A/13	Haseeb Hassan	-	-	-	-	-	61	C	2.0	3	6.0	59	C	2.0	3	6.0	65	C+	2.5	2	5.0	70	B	3.0	3	9.0	-	-	-		
IS/BS/SE/S-25/M/A/14	Hassan Mehmood	-	-	-	-	-	60	C	2.0	3	6.0	65	C+	2.5	3	7.5	65	C+	2.5	2	5.0	75	B+	3.5	3	10.5	-	-	-		
IS/BS/SE/S-25/M/A/15	Hassan Tariq	-	-	-	-	-	60	C	2.0	3	6.0	61	C	2.0	3	6.0	55	C	2.0	2	4.0	71	B	3.0	3	9.0	-	-	-		
IS/BS/SE/S-25/M/A/16	Hijab Noor	-	-	-	-	-	80	A	4.0	3	12.0	71	B	3.0	3	9.0	75	B+	3.5	2	7.0	80	A	4.0	3	12.0	-	-	-		
IS/BS/SE/S-25/M/A/17	Hira	-	-	-	-	-	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	80	A	4.0	2	8.0	71	B	3.0	3	9.0	-	-	-		
IS/BS/SE/S-25/M/A/19	Irtaza Raheem	-	-	-	-	-	76	B+	3.5	3	10.5	50	D	1.5	3	4.5	65	C+	2.5	2	5.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Software Engineering) 2nd Semester Section-A Morning Session: Autumn 2025

		MT143					NC101					NC102					SE111					SE112					SE114				
		Probability & Statistics					Pre-Cal 1					Pre-Cal 2					Programming Fundamentals (C)					Object Oriented Programming					Digital Logic Design				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE Aut-2023-M-C-0130	Ajmal Karim	36	F	-	3	-	-	-	-	-	-	-	-	-	-	F	-	4	-	-	26	F	-	4	-	-	-	-	-	-	
B.S SE SP-2024-M-A-0012	Hanzala Qadeer	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	
IS/BS/SE/A-24/M/A/35	Saqlain Abbas	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/A/37	Shakir Hussain	-	-	-	-	-	-	-	-	-	-	-	52	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/SE/A-24/M/B/06	Ahmad Shan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/SE/A-24/M/D/19	Kumail Abbas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	27	F	-	4	-	-	-	-	-		
IS/BS/SE/A-24/M/D/51	Sharaz Ahmed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	61	C	2.0	4	8.0	-	-	-	-		
IS/BS/SE/A-24/M/E/21	Muhammad Aryan Khan	57	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	65	C+	2.5	4	10.0	-	-	-	-	-	55	C	2.0	3	6.0	
IS/BS/SE/A-24/M/F/04	Abdul Wasay	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	
IS/BS/SE/A-24/M/F/30	Muhammad Bilal	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	62	C	2.0	4	8.0	55	C	2.0	3	6.0	
IS/BS/SE/A-24/M/G/16	Kashaf Ul Eman	52	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	4	8.0	65	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/G/32	Nouman Raees	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	67	C+	2.5	4	10.0	65	C+	2.5	3	7.5	
IS/BS/SE/A-24/M/G/54	Usman Hameed Awan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	59	C	2.0	4	8.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/01	Abdul Aashir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	82	A	4.0	4	16.0	70	B	3.0	3	9.0	
IS/BS/SE/S-25/M/A/03	Alina Ishaq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	51	F	-	4	-	-	70	B	3.0	3	9.0
IS/BS/SE/S-25/M/A/04	Alishba Tassadaq	-	-	-	-	-	64	C	2.0	3	6.0	52	D	1.5	3	4.5	-	-	-	-	65	C+	2.5	4	10.0	50	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/06	Asad Muhammad Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	4	10.0	72	B	3.0	4	12.0	50	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/07	Atiya Alam	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	4	16.0	70	B	3.0	3	9.0	
IS/BS/SE/S-25/M/A/08	Awais Imtiaz	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	77	B+	3.5	4	14.0	50	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/09	Ayesha Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	4	16.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/10	Ayesha Shah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	4	10.0	51	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/11	Dawood Tahir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	4	16.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/12	Haris Iftikhar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	4	10.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/13	Haseeb Hassan	-	-	-	-	-	-	-	-	-	20	F	-	3	-	-	-	-	-	-	70	B	3.0	4	12.0	50	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/14	Hassan Mehmood	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	61	C	2.0	4	8.0	51	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/15	Hassan Tariq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	67	C+	2.5	4	10.0	55	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/16	Hijab Noor	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	55	C	2.0	4	8.0	70	B	3.0	3	9.0
IS/BS/SE/S-25/M/A/17	Hira	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	4	16.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/19	Irtaza Raheem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	52	D	1.5	4	6.0	65	C+	2.5	3	7.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Software Engineering) 2nd Semester Section-A Morning Session: Autumn 2025

Registration #	Name	GE161					GE163					GE164					GE167					GE168					GE169				
		Application of Information & Communication Technologies					Expository Writing					Discrete Structures					Ideology & Constitution of Pakistan					Social Sciences (Urdu)					Applied Physics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/SE/S-25/M/A/20	Javeria Ghafoor	-	-	-	-	65	C+	2.5	3	7.5	72	B	3.0	3	9.0	71	B	3.0	2	6.0	75	B+	3.5	3	10.5	-	-	-	-		
IS/BS/SE/S-25/M/A/21	Kashif Mehmood	-	-	-	-	75	B+	3.5	3	10.5	50	D	1.5	3	4.5	60	C	2.0	2	4.0	80	A	4.0	3	12.0	-	-	-	-		
IS/BS/SE/S-25/M/A/22	Khurram Khushal	-	-	-	-	60	C	2.0	3	6.0	58	C	2.0	3	6.0	65	C+	2.5	2	5.0	76	B+	3.5	3	10.5	-	-	-	-		
IS/BS/SE/S-25/M/A/23	Maheen Kanwal Satti	-	-	-	-	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	65	C+	2.5	2	5.0	80	A	4.0	3	12.0	-	-	-	-		
IS/BS/SE/S-25/M/A/24	Mahnoor	-	-	-	-	75	B+	3.5	3	10.5	76	B+	3.5	3	10.5	70	B	3.0	2	6.0	80	A	4.0	3	12.0	-	-	-	-		
IS/BS/SE/S-25/M/A/26	Muhammad Dawood	-	-	-	-	60	C	2.0	3	6.0	64	C	2.0	3	6.0	65	C+	2.5	2	5.0	75	B+	3.5	3	10.5	-	-	-	-		
IS/BS/SE/S-25/M/A/27	Muhammad Haris	-	-	-	-	70	B	3.0	3	9.0	55	C	2.0	3	6.0	80	A	4.0	2	8.0	75	B+	3.5	3	10.5	-	-	-	-		
IS/BS/SE/S-25/M/A/28	Muhammad Hasnain	-	-	-	-	65	C+	2.5	3	7.5	54	D	1.5	3	4.5	70	B	3.0	2	6.0	72	B	3.0	3	9.0	-	-	-	-		
IS/BS/SE/S-25/M/A/30	Muhammad Naseem	-	-	-	-	75	B+	3.5	3	10.5	64	C	2.0	3	6.0	65	C+	2.5	2	5.0	75	B+	3.5	3	10.5	-	-	-	-		
IS/BS/SE/S-25/M/A/32	Muhammad Sehran	-	-	-	-	70	B	3.0	3	9.0	60	C	2.0	3	6.0	60	C	2.0	2	4.0	80	A	4.0	3	12.0	-	-	-	-		
IS/BS/SE/S-25/M/A/33	Muhammad Sharjeel Asif	-	-	-	-	81	A	4.0	3	12.0	61	C	2.0	3	6.0	80	A	4.0	2	8.0	75	B+	3.5	3	10.5	-	-	-	-		
IS/BS/SE/S-25/M/A/34	Muhammad Wasi	-	-	-	-	65	C+	2.5	3	7.5	43	F	-	3	-	80	A	4.0	2	8.0	71	B	3.0	3	9.0	-	-	-	-		
IS/BS/SE/S-25/M/A/35	Muhammad Yawar	-	-	-	-	65	C+	2.5	3	7.5	62	C	2.0	3	6.0	75	B+	3.5	2	7.0	70	B	3.0	3	9.0	-	-	-	-		
IS/BS/SE/S-25/M/A/36	Muntazir Hussain (Withheld due to	-	-	-	-																										
IS/BS/SE/S-25/M/A/37	Mutahar Ali	-	-	-	-	70	B	3.0	3	9.0	54	D	1.5	3	4.5	55	C	2.0	2	4.0	70	B	3.0	3	9.0	-	-	-	-		
IS/BS/SE/S-25/M/A/38	Muzamil Ashfaq	-	-	-	-	70	B	3.0	3	9.0	64	C	2.0	3	6.0	71	B	3.0	2	6.0	80	A	4.0	3	12.0	-	-	-	-		
IS/BS/SE/S-25/M/A/39	Nadia Jehan	-	-	-	-	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	80	A	4.0	2	8.0	75	B+	3.5	3	10.5	-	-	-	-		
IS/BS/SE/S-25/M/A/40	Naima Khalil	-	-	-	-	70	B	3.0	3	9.0	71	B	3.0	3	9.0	71	B	3.0	2	6.0	76	B+	3.5	3	10.5	-	-	-	-		
IS/BS/SE/S-25/M/A/41	Noor Ahmad Khan	-	-	-	-	65	C+	2.5	3	7.5	81	A	4.0	3	12.0	75	B+	3.5	2	7.0	80	A	4.0	3	12.0	-	-	-	-		
IS/BS/SE/S-25/M/A/42	Qurat Ul Ain	-	-	-	-	75	B+	3.5	3	10.5	52	D	1.5	3	4.5	65	C+	2.5	2	5.0	80	A	4.0	3	12.0	-	-	-	-		
IS/BS/SE/S-25/M/A/43	Qurat Ul Ain	-	-	-	-	72	B	3.0	3	9.0	68	C+	2.5	3	7.5	80	A	4.0	2	8.0	57	C	2.0	3	6.0	-	-	-	-		
IS/BS/SE/S-25/M/A/44	Razia	-	-	-	-	70	B	3.0	3	9.0	50	D	1.5	3	4.5	76	B+	3.5	2	7.0	80	A	4.0	3	12.0	-	-	-	-		
IS/BS/SE/S-25/M/A/45	Sadia Safeer	-	-	-	-	70	B	3.0	3	9.0	34	F	-	3	-	70	B	3.0	2	6.0	70	B	3.0	3	9.0	-	-	-	-		
IS/BS/SE/S-25/M/A/46	Sajid Ali	-	-	-	-	66	C+	2.5	3	7.5	67	C+	2.5	3	7.5	65	C+	2.5	2	5.0	70	B	3.0	3	9.0	-	-	-	-		
IS/BS/SE/S-25/M/A/47	Salman Nazir	-	-	-	-	75	B+	3.5	3	10.5	43	F	-	3	-	75	B+	3.5	2	7.0	75	B+	3.5	3	10.5	-	-	-	-		
IS/BS/SE/S-25/M/A/48	Sanallah	-	-	-	-	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	80	A	4.0	2	8.0	75	B+	3.5	3	10.5	-	-	-	-		
IS/BS/SE/S-25/M/A/49	Shamir Asif	-	-	-	-	80	A	4.0	3	12.0	53	D	1.5	3	4.5	71	B	3.0	2	6.0	70	B	3.0	3	9.0	-	-	-	-		
IS/BS/SE/S-25/M/A/50	Siraj Ullah	-	-	-	-	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	80	A	4.0	2	8.0	70	B	3.0	3	9.0	-	-	-	-		
IS/BS/SE/S-25/M/A/51	Syeda Muhaddisa Maryam	-	-	-	-	80	A	4.0	3	12.0	69	C+	2.5	3	7.5	82	A	4.0	2	8.0	76	B+	3.5	3	10.5	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Software Engineering) 2nd Semester Section-A Morning Session: Autumn 2025

		MT143					NC101					NC102					SE111					SE112					SE114				
		Probability & Statistics					Pre-Cal 1					Pre-Cal 2					Programming Fundamentals (C)					Object Oriented Programming					Digital Logic Design				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/SE/S-25/M/A/20	Javeria Ghafoor	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	70	B	3.0	4	12.0	51	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/21	Kashif Mehmood	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	57	C	2.0	4	8.0	50	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/22	Khurram Khushal	17	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	52	D	1.5	4	6.0	50	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/23	Maheen Kanwal Satti	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	4	14.0	55	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/24	Mahnoor	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	83	A	4.0	4	16.0	70	B	3.0	3	9.0	
IS/BS/SE/S-25/M/A/26	Muhammad Dawood	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	4	12.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/27	Muhammad Haris	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	50	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/28	Muhammad Hasnain	-	-	-	-	-	-	-	-	-	F	-	3	-	-	-	-	-	-	-	70	B	3.0	4	12.0	70	B	3.0	3	9.0	
IS/BS/SE/S-25/M/A/30	Muhammad Naseem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	74	B	3.0	4	12.0	56	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/32	Muhammad Sehran	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	4	12.0	56	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/33	Muhammad Sharjeel Asif	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	4	16.0	55	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/34	Muhammad Wasi	-	-	-	-	53	D	1.5	3	4.5	52	D	1.5	3	4.5	-	-	-	-	-	65	C+	2.5	4	10.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/35	Muhammad Yawar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	82	A	4.0	4	16.0	55	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/36	Muntazir Hussain (Withheld due to	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/SE/S-25/M/A/37	Mutahar Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	71	B	3.0	4	12.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/38	Muzamil Ashfaq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	73	B	3.0	4	12.0	55	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/39	Nadia Jehan	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	76	B+	3.5	4	14.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/40	Naima Khalil	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	4	16.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/41	Noor Ahmad Khan	-	-	-	-	56	C	2.0	3	6.0	54	D	1.5	3	4.5	-	-	-	-	-	70	B	3.0	4	12.0	50	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/42	Qurat Ul Ain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	4	10.0	56	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/43	Qurat Ul Ain	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	-	76	B+	3.5	4	14.0	75	B+	3.5	3	10.5	
IS/BS/SE/S-25/M/A/44	Razia	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	4	14.0	58	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/45	Sadia Safeer	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	4	10.0	50	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/46	Sajid Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/47	Salman Nazir	-	-	-	-	51	D	1.5	3	4.5	58	C	2.0	3	6.0	-	-	-	-	-	65	C+	2.5	4	10.0	50	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/48	Sanaullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	77	B+	3.5	4	14.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/49	Shamir Asif	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	4	16.0	56	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/50	Siraj Ullah	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	-	65	C+	2.5	4	10.0	50	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/51	Syeda Muhaddisa Maryam	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	50	D	1.5	3	4.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**BS (Software Engineering) 2nd Semester Section-A Morning Session: Autumn 2025**

Registration #	Name	GE161					GE163					GE164					GE167					GE168					GE169				
		Application of Information & Communication Technologies					Expository Writing					Discrete Structures					Ideology & Constitution of Pakistan					Social Sciences (Urdu)					Applied Physics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/SE/S-25/M/A/52	Tabeel Abbasi	-	-	-	-	80	A	4.0	3	12.0	64	C	2.0	3	6.0	75	B+	3.5	2	7.0	72	B	3.0	3	9.0	-	-	-	-		
IS/BS/SE/S-25/M/A/53	Tariq Aziz	-	-	-	-	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	66	C+	2.5	2	5.0	71	B	3.0	3	9.0	-	-	-	-		
IS/BS/SE/S-25/M/A/54	Ume Saher	-	-	-	-	66	C+	2.5	3	7.5	50	D	1.5	3	4.5	75	B+	3.5	2	7.0	70	B	3.0	3	9.0	-	-	-	-		
IS/BS/SE/S-25/M/A/56	Wasiq Shoaib Abbasi	-	-	-	-	71	B	3.0	3	9.0	67	C+	2.5	3	7.5	80	A	4.0	2	8.0	80	A	4.0	3	12.0	-	-	-	-		
IS/BS/SE/S-25/M/A/57	Zavish Jameel	-	-	-	-	65	C+	2.5	3	7.5	61	C	2.0	3	6.0	65	C+	2.5	2	5.0	72	B	3.0	3	9.0	-	-	-	-		
IS/BS/SE/S-25/M/A/58	Zunaira Fazal	-	-	-	-	65	C+	2.5	3	7.5	33	F	-	3	-	75	B+	3.5	2	7.0	80	A	4.0	3	12.0	-	-	-	-		

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**BS (Software Engineering) 2nd Semester Section-A Morning Session: Autumn 2025**

		MT143					NC101					NC102					SE111					SE112					SE114				
		Probability & Statistics					Pre-Cal 1					Pre- Cal 2					Programming Fundamentals (C)					Object Oriented Programming					Digital Logic Design				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/SE/S-25/M/A/52	Tabeel Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	55	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/53	Tariq Aziz	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	55	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/54	Ume Saher	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	61	C	2.0	4	8.0	50	D	1.5	3	4.5	
IS/BS/SE/S-25/M/A/56	Wasiq Shoaib Abbasi	-	-	-	-	-	-	-	-	89	A	4.0	3	12.0	-	-	-	-	-	-	76	B+	3.5	4	14.0	56	C	2.0	3	6.0	
IS/BS/SE/S-25/M/A/57	Zavish Jameel	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	4	12.0	65	C+	2.5	3	7.5	
IS/BS/SE/S-25/M/A/58	Zunaira Fazal	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	77	B+	3.5	4	14.0	50	D	1.5	3	4.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026